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B diff(exp(xAx),x);
X (In(x)+1)e" (1.1)
> series(log((1+x)/(1-x)),x=0);
oxt 2t 2B 0 1
X+ 3z X +5X+ (X) (1.2)
:> int(xA2*cos(x),x);
x2 sin(x) — Zsin(x) + 2xcos(x) (1.3)
:> fl:=unapply(x/(xA2+1),x);
plot([f1(x),diff(f1(x),x)]1,x);
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[> eql:=xA2-(k+1)*x-3*kA2=0;
eq2 :=xA2-(k-1)*x-kA2=0;
eql::xzf (k+ 1) X— 3k2=0

eq2:=x2—(k—1)x—k2=0 (2.1)
> solve({eql,eq2}, {x,k});
{x:O,k:O},{k:—Z,x=—4},{k:],x:—]} (2.2)

:> plot(subs(k=0,{lhs(eql),lhs(eq2)}),x=-2..3);
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:> plot(subs(k=-2,{lhs(eql),1hs(eq2)}),x=-6..-2);
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[ > plot(subs(k=1,{lhsCeql),lhs(eq2)}),x=-2..2);
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v 3 iES

> Z:=unapply(exp(-1/(2*T))/(1-exp(-1/T)),T);




B with(LinearAlgebra):

:> factor(Determinant(A));
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[> restart;

> fl:=unapply(-xA2+7*x,x):
n:=4:
dx:=(3-1)/n:
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:> E:=unapply(simplify(TA2*diff(In(Z(T)),T)),T);
plot([E(CT),diff(E(CT),T)],T=0..5);
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A:=Matrix([[1,1,1],[a,b,c],[ar2,bA2,cA2]]);
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x0:=1-dx;

suml:=0:

for i from 1 to n do
X0 :=x0+dx;
suml:=suml+f1(x0)*dx;
print(i,x0,f1(x0),suml);

V i

end do:
evalf(suml);
1
XO::‘E
1,1,6,3
3 33 57
2’7, —
2’ 4> 8
97
&21Q?;
5 45 71
‘2 a
17.7500000000
[~ with(plots):with(plottools):
x0:=1:
11:=[]:12:=[]:
lines:=[];

for i from 1 to n do

11:=[op(11), [[x0,0], [x0, f1(x@)]]1];
12:=[op(12),[[x0@,f1(x0)], [x0+dx,f1(x0)]1];

lines:=[op(lines),lineCop(1l1[i])),lineCop(12[i]1D)];

X0 :=x0+dx;
end do:
lines:=[op(lines),line([x0,0], [x0,f1(x0-dx)])]:
Hnes::[]

> pl:=plot(f1(x),x=0..5):

display([pl,op(lines)]);
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